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JOURNALISM & MASS COMMUNICATION

Paper - 11

1.  The concept that audience consciously
or unconsciously work to preserve their
existing views is known as :

(A) Cognitive dissonance
(B) Stereotype

(C) Cognitive consistency
(D) Frame of reference

2. The first broadcaster in the United
States to use satellites was :

(A) Rupert Murdoch
(B) Ted Turner

(C©) Henry Luce

(D) Paul Harvey

3. Broadcast and narrowcast codes are
defined by the nature of :

(A) The source

(B} The message
(C) The audience
(D) The channel

4, Chenu - Chelaka is an agricultural
programme in :

(A) V6

(B) HMTV
(C) T News
D) 6TV

5.  Soft news is characterised by :
(A) Orthodoxy
(B) Timeliness
(C) Off-beat incidents
(D) Conflicts of power

Paper-I1

6.

10.

C.P. Pierce model of communication, if

diagramatically represented, looks
like a :

(A) Straight line
(B) Rectangle
{C) Hexagon

(D) Triangle

George Gerbner’s model  of

communication relates to :
(A) Imagination

(B) Networks

(C) Cyber world

(D) Reality

If messages are associated with strong
emotions to stimulate large-scale mass
action, they are known as :

(A) Iconic messages
(B) Ritual messages
(C) Phatic symbols

(D) Master symbols

The concept of attribution is used in :
(A) News reporting

(B) TV production

(C) Radio advertisements

(D) Basic survey

Light used to separate and add
dimension to a scene from the rear of
the subject is called as :

(A) Key light

(B) Background light
(C) Back light

(D) Fill light

B-10-17



12.

13.

@ includes  broadcast
television standards of more than 1000
lines, plus the 720 lines interlaced
format.

(A) SDTV
(B) IPTV
(C) HDTV
(D) LEDTV

One of the earliest experiments in
developmental Journalism in India was
made possible by :

(A) Television rural forums
(B) Radio_rural forums

(C) Film rural forums

(D) Newspaper rural forums

NWICO stands for :

(A) New World Internet and
Communication Order.
(B) New World Information and

Communication Order.
oy N

15.

16.

17.

18.

WA

In any exhaustive theory of an
organisation, “Communication is the life

blood”. To whom do you attribute
this ?

(A) Philip Lesley

(B) Chester Bernard

(C) Henry Taylor

(D} Frank Jeffkens

Convergence model of communication
was propounded by

(A) Lawrence Kincaid
(B) Doug Newsom

(C) Bob Carrel

(D) Breau Solis

Cultural imperialism in global
communication was first theorised by :

(A) Herbert Schiller
(B) Raymond Williams
(C) Wilbur Schramm
(D) Daniel Lerner

The frequency of listenership of a
particular broadeast =t
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20!

21.

22.

23.

24.

The United News of India news agency
was framed under the leadership of :
(A) G.G. Mirchandani

(B) M.M. Gupta

(C) B.C. Roy

D)

Kasturi Srinivasan

A special edition of a newspaper for a
specific area or event is called :

(A} Snap

(B) Softliner
(C) Bouquet
(D) Slip

A survey of the people with practical
experience as regards the problem
under study is referred to as :

(A) Practical Survey

(B) Exploratory Survey
(C) Conceptual Survey
(D) Experience Survey

Book reviewing is shaped by the
occupational of journalism.
(A) Hazards

(B) Vaiues

(C) Revenue

(D) Technicalities

Filter is a market research method to
eliminate :

(A) The deserving audience
(B) The audience distribution
(C) Hesitant consumers

(D) Non-qualifiers

Paper-II

25.

26.

27.

A major public organisation in Asia
working in the field of developmental
communication is :

(A) ORBICOM
(B) FAO

(C) IMF

(D) AidCom

Assertion (A) :

The new world communication order is
a distant possibility.

Reason (R) :

The very discourse of new global
information order is beset with binary
oppositions.

Codes :
(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but (R)
18 not the correct explanation of
(A).

(A) is true, but (R) is false.
(A) is false, but (R) is true.

©)
)

Assertion (A) :

The aim of public media policy is always
to protect media freedom from
government control.

- Reason (R) :

According to Huchins Commission
media have a responsibility to serve the
public good.

Codes :
(A) Both (A) and (R) are true.

(B} Both (A) and (R) are true, but (R)
1s not the correct explanation of
(A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

©)
)
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28. Assertion (A) :

29.

The new communication objects are
nothing but objects of fetishism.

Reason (R) :

These devices are widely adopted

immediately and discarded with gay

abandon.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but (R)
i8 not the correct explanation of
(A).

(C©) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (4) :

Mass media institutions in the
developed countries are on the path of
a steady decline.

Reason (R) :

Erosion of public trust in corporate
media is the most possible alibi.

[

30. Assertion (A):

31.

Gender and globalisation are two
powerful discourses in communication
for development.

Reason (R) :

A level playing field is not a plausible
guiding principle behind any take on
development discourses.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but (R)
is not the correct explanation of
(A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) :

SITE was a one-time experimental
extravaganza to usher 1n television into
the country.

Reason (R) :

SITE was not replicated in India as the
concept of development communication
lost its steam among policy makers.
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32.

33.

Assertion (A) :

Litigations as to the invasion of privacy
by media are far and few in India.

Reason (R) :

The absence of a concrete law on privacy
is an inhibition even for public figures
to sue media over privacy issues.

Codes :
(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but (R)
i1s not the correct explanation of
(A).

{C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

Assertion (4A) :

Right to circulation for newspapers does
not fall under Article (19)(1)(a) of the
Indian Constitution.

Reason (R) :

Any government measure to restrict
newspaper circulation should be
consistent with reasonable restrictions
under Article 19(2) of the constitution.

Codes :
(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but (R)
18 not the correct explanation of

(A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

Paper-I1

34. Assertion (A) :

35.

Establishment of mutual understanding
between an organisation and its publics
18 fundamental to public relations.

Reason (R) :

By creating an environment cf quality
perception, a public relations officer, can
allow publics the freedom to analyse and
criticise his own organisation,

Codes :
(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but (R)
1s not the correct explanation of
(A).

(C) (A) is true, but (R) is false.
(D} (A) 1s false, but (R) is true.

Assertion (A) :

By supplying information through
government departments, the intended
propaganda is aimed at keeping the
government in power.

Reason (R) :

Because the information supplied is
aimed at getting the government
services used properly.

Codes :
(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but (R)
18 not the correct explanation of
(A).

(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.
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36. Identify the correct sequence while

37.

38.

selecting sample units :

(a) Define Universe

(b) Decide sampling design/method
(¢} Decide sample size

(d) Choose sample units
Codes :

A (@, @@, O), (&

B) (@), ®), ©, @

©) @, ), Db, @

D) ®), (@), ), @

Identify the correct sequence in the
consumer buying decision making
process.

(a) Identify need

(b) Search for information
(c) Evaluate options

(d) Purchase decision
Codes :

A) (), ®), (a), @)

(B) (a), (), (@, @

© ®, @, ©, D

(D) (@, (), (), (a)

Find out the correct Chronological

sequence of following English news .

magazines.
(a) The week
by India T

39.

40.

A

Find out the correct Chronological
sequence of the following newspapers :

(a)
(b) Bombay Gazette

Bombay Times

(c) Bombay Courier

(d) Bombay Herald
Codes :

&) (@), @, (), @
B) O), (@, @), @
(© (@, (@, (b), (@)
(D} (), (@), @), ()

Match List - I with List - II. List - I
contains the names of personalities; and
List - II contains the area/subject they
are associated with :

List-1 List - II
(a) Everett (1) Propaganda
M. Rogers
(b) Harold (i) Magic
D. Lasswell Multiplier
(¢) Wilbur (i11) Development
Schramm Communication
(d) Nora (iv) Diffusion of
Quebral Innovation
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41. Match the lists :
List -1

(a) Hashtag
(b} Trend jacking

(¢} Meme
(d) Phishing

List - I1
(i) Humorous

Message

(11) Identification
handle

(i11) Data Stealing

(iv) Marketing
with the help
of Social
Media trends

Codes :
(@ (b) () (@)
(A) Gi) D) Gv) @)
(B) Gv) () @Gi) @)
€ W @) (i) Gv)
D ) Gv) @) (i)
42. Match the lists :
List -1 List - IT
(a) Jal Sagar (i) Mehboob
Khan
(b) Elipathayam (i1) Satyajit Ray
(¢) Meghe Dhaka (i) Ritwik
Tara Ghatak
(d) Mother India (iv) Adoor
Gopalakrishnan
Codes :
(a) (b) (c) (d)
A @ @i G 3G
B @ G @ @)
(C© ) v @) @)
D) Gv) Qi) G @

Paper-II

43.

44.

Match List - I which contains special-
terms with List - II containing the
names of those who used/coined them.
List-1 List - 1T
(a) Cultural Screen (i) Stuart Hall
(b) Encoding and  (ii)) Theodoro
Decoding in Adorno
Cultural Studies .
(c) Public sphere  (iii) Dallas Smythe
(d) Cultural (iv) Jurgun
Industry Hebarmas
Codes :
@ () () @
Ay @ () @G Gv)
(B) Gv) (i) () @)
(€) G Gv) () (i)
D) (i) @ (v G
Match the lists :
List -1 List - I1
(a) First telegraphy line i) Mumbai
(b) First television (11) Kolkata
station
(c} First radio station (iii) New
Delhi
(d) First Community (iv) Pastapur
radio station Village
Codes :
(@ (b) (c) (d)
(A () Gv) @) ()
B) Gv) Gi) @ a6
(© @) Gi) @) (@Gv)
D) Gi) G @) )
B-10-17




45. Match the lists.
List-1 List - 11

(a) Content analysis (i) Norman
Fairclough

(b) Textual analysis (i) Bernard
Berelson

(¢) Semiotic (iii) Stuart Hall
analysis
(d) Discourse (iv) Roland
analysis Barthes

Codes :

(@ () (@ (@
(A) @) @i Gv)y @
® ® @ @) Gv)
© @ @ @ v

@) Gv) @) @) @

Read the passage and answer the following
questions from 46 to 50.

One highly influential technology-

centered stream is defined as th' !
A=

AU

Communication Technology (ICT) is heavily
tinged with a utopian hue. In essence, they
treat new ICT (and, in some cases,
biotechnology) as the key ‘driver’ of a
fundamental transformation of the core
economic structures and social relations
which have characterized the capitalist
industrial societies for the past two centuries.
They suggest that new ICT is forging a
radically new (third-wave) civilization or
mode of production, one which transcends or
transforms the key social and economic
relations of industrial capitalism. Besides a
primary emphasis on the ICT (technology)
factor, some of these analyses also refer to
the transformative impacts of the expanding
economic role of information and/or of the
emergence and diffusion of digital
communication networks. Before going on to
explore these influential theories of the
apparent revolutionary implications of new
ICT it may be helpful to take a brief detour
to explore the definitions and genealogy of
key terms and the representation of new ICT
as ‘the most powerful technological
juggernaut that ever rolled’. It is conventional
and tempting to start this kind of story with
a description of the relevant technological
innovations. But here we should be mindful
that the definitions attached to such key
terms can be best understood in relation to
the historical contexts which shaped their
broader social meanings and marked the
origins of the increasing emphasis on such
technology matters since the late 1970s
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46. What does the author speak about third- | 49. How can the new definitions be
wave models ? understood ?

(A) ICT is useless (A) With reference to their daily use.

(B) In relation to their linear
(B) Technological innovation evolution,

(©) Lack of powerful tools (C) In relation to their utopian hues.
(D) With reference to their historical

(D) Economic benefits contexts.

50. How does this history of terms influence

47. What is the suggestion for ICT public discourses of modern day ?
functioning ? (A) In industrial policy circles
(A) Transformation of industrial (B) In governmental decisions
capitalism. (C) In biotechnology experiments
(B) Destruction of social and economic (D) In radical concepts of gender
relations. views

(C) It is not an autonomous force to
radically change the world. -00o0-

(D) Heavy reliance on outsourcing.

48. Why does the author of the passage take
a detour ?

(A) To define new world of
imagination.

(B) To explore new research thoughts.

(C) To examine new perspective of
history.

(D) To explore the genealogy of key
terms of ICT.

Paper-II : 11 i B-10-17
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